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March 25, 2019, Monday

Which of these is NOT a function? 2 Ver 'h—CQD L; nq_ Tes" '

A (5,3),(6,4)(7,3) (8 4)
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Let's review factoring quadratics....
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Solve each cquation by completing the square. +L’
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Slve cach equaton by taking suare roots.
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Solve each equation by completing the sq
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Solve cach eqution by ompletin the sguare.
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March 26, 2019, Tuesday

1. What is the y-intercept of the graph of hix) = 2* - &

A -4
B (0.3

c o1
0. ©.32)

2. What is the range of the graph of f1x) = =3(x - 4)7

= D
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Algebra 1~ Day 4 BL 4, Solving by the Quadratic Formula Notes

The solutions of any quadratic equatiofi ¥¢2 5 We i ¥ ’ube[«mndlﬂy evaluating the quadratic Algebra 1~ USB Doy 4 Name
formula:

— Solving by the Quadratic Formula
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St exch xuation b Gampleting e )
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X= 24
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Solve each equation by factoring, use any factoring method you choosc.

{M{a’;‘ BaTke6=0 )< (@’ 7 42m0 suhfmh cquation by taking square roots. }
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Solve each equation by factoring.

March 27, 2019, Wednesday

ay:l

‘Solve each equation by completing the square. SAMPLE ITEMS
74 120-37=8 1. What are the zeros of the function represented by the quadratic expression 2:2 +x-32

o 0]

Cox=-1 andpi (x_ ,Yz KF3’ Solve by graphing, Up C

‘Solve each equation with the quadratic formula.
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GSE Algebra | Solving Quadratics Noles
Name: Date:

A isany the form ax? + bx + ¢ = 0.A o
graph called a parabola (shaped like a u)

In this unit, we wil we will xwhen y=0.

Solving Quadratics by Graphing

Solve a Quadratic by Graphing
To solve a quadalic by graphing is 1o find where The parabola crosses Ihe x-xis

" . Quiz....
We call these the solutions, rools, zeros, or x-infercepts.
Example : find the zeros. Find the solutions.
NEEE T You may skip one from the front
- & skip one from the back. Please
AN \ / y
+ F e write "SKIP" on the problems
you do not wish to complete.
4

Practice: Identify he solutions of each quadratic graph.
1 2




wk12 alg 1st.notebook March 28, 2019

Name: Algebr

s by graphing Solving qu v
ing cquations by graphing!
< cxaee: Use he craphs below o scveth gven quadracsquatons. = & caulions by grophine!
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r 5 3
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- -
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Vertex: (2,-4) Vertex: (6,4)
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1.2 c e =-da+4y+2 d dx)=(+2

Thegahety - ¥ 3o d The gty =% 116
sfy i
"
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Vertex: (~4,2) Vertex: (-2,0)
Auis of Symmetry: x =4 Axis of Symmetry: x =~2
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ttem 13
Constructed Rosponse

Maria and Jeff collect data on the number of cars that pass Urough an intarsection overy Monday
morming for 2 months. They record the findings as 78, 158, 63, 71. 56, 67. 75, and 64, They cach
pi

quiz... usos tho median instead to describe the typical number of Gars that pass thiough the intorsection on
any given Monday moring.

PartA' What s the median value of the data? Write your answer in the space provided.

PartB  Explain why the median should be used instead of the mean. Write your answor in the space
provided.

Part A

Part B
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March 28, 2019, Thursday

4. The expression +* + 70x — 600 represents a compamye
number{s) of items sld is the company’s profi@qual to $07
—_—

A Oitems
b B._35 items

a\, T a0 e [\ c
Ty
X*+3x-L00 = O
Q= ~

for selling x items. For which

it 38 Tedt Review
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Item 13

Constructod-Rosponse

Maria and Jef colcet data on the numbar of crs that pass Urough an intrsccion overy Monday
momin o2 mont, Ty securd o (v 035, 15517 156,67 T4 nd . Ty o
e ierent meiog o st o el umbor of st o, o e oo o
the specifc tim and compare thir fidings. Jff ays (hat. on averago. 79 cars pass (rough the
intorsoction cach Mantay morin, Mavia disagreos and says that T8 TR Snou nat be wsed and
usos tho median instead to doscribe the ‘,m nurmber of cars that g Through the ntarsection on

any given Monday morming. r #3Prom leos k1o srvo&f”“

Part A Whatis the (g m.q L4 \Iu.- it ot s e
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13.x-4x-12=0 14.x* +6 = 5x
xmgam
b
okt
o i o A T | P e o GO
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o -8x= 12

©Bx16 12
{x-27=28
FRIERE

x=4 % 207

18, What are the solutions of (x + 5)(x - 2) ~ 07 | 19, What are the solutions of (2x - )(3x + 7)-07

2)x=-2andx

byx=2andx=

Ox- 4andx-

d) x=2andx=2

March 29, 2019, Friday

number(s) of items sold is the company's profit equal to $07

Oitems
. 35 items
. 10 items and 60 items

A,
B.
c.
D. 20 items and 30 items.

4. The expression -x* + 70x - 600 represents a company’s profit for selling x items. For which

..test

Unit 38 SPIRAL REVIEW Name: Date:

1 =

e

' equation o find the 710 of the function 54790300
)

onwsd|ne

3. Whatis the solution fo the linear system?
7

+
2x12y=6
A(29) B (25) c @9 D. No solution
4. 1) Determine the range of the function,
Ay
B xz2

€. Nosolution
D, Allreal numbers

& The graphs coincide. € The graphs intersect
b The graph: el ».

6 Abird chirps 10 times a minute. Dete ‘many times the bird
144 times per day.
1,440 times per day
14,400 times per day
144, per.

7. Aculture of bactes If
will there be after 9 hours?
B. 9,000 c 4500 D.40,500

8. Whatis the asymptote of the function: £ (x) - (1/3)x- 22

A ye2 Bx=0 cy=2 Dx=1/2

9. Whatis the yintercept of the function whose equation is y'=2(3)7
al B.3 c6 D.2

ere and it will solve for 1 soluti

solutions?
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